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vold leoop() {

digitalWrite(Ainl,HIGH);
digitalWrite(AinZ,LOW);
digitalWrite(Binl,LOW);
digitalWrite(BinZ,HIGH):

int dev = 2*analogRead(analogPin@)*1.2 + analogRead(analegPinl)*1.5 - analogRead(analogPin2)
double rev = dew/divide;

if{analogRead(analogPin@) <600 &% analogRead(analogPin3)-688) {
analogirite(motorB, revspeed);
analogWrite(motora,@);
aflag = 1;
bflag = 1;
} else if(bflag == 1 && analogRead(analogPinl)*1.5-68@ && analogRead(analogPin2)-60@){
analoghrite(motorB, revspeed);
analogirite{motorA,@);
} else if(analogReadCanalogPin3)<6@@ && analogRead(analogPin®)>600) {
analogWrite(motorB,@);
analoghirite(motorA, revspeed);
} else if(aflag == 1 && analogRead(analogPinl)*1.5-680 &% analogRead(analogPinZ)-688) {
analogWrite{motorB,@);
analogirite(motorA, revspeed);
} else {
analogirite{motorA, revspeed+rev);
analoghiriteljnotorB, revspeed-rev;
bflag = @;
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